©YAMAHA
SPM-K8

WALL MOUNT BRACKET
SUPPORT MURAL

Yo rJOVzoy—EHITER

Installation Manual
Manuel d’installation
Installationsanleitung
Instllationsanvisningar
Manuale d’installazione
Manual de instalacion
Installatiehandleiding
AR
=PNIESTEPS

EIEHEAE

e

o=

m
O




DIMENSIONS
DIMENSIONS

ABMESSUNGEN
MATTSKISSER
DIMENSIONI

Large wall mount bracket
Grand support mural
GroBe Wandhalterung
Stort vdiggmonteringsféste

Staffa di installazione a muro grande

DIMENSIONES
AFMETINGEN

=B BIR
E¥j|

BEpoTi%

Soporte de montaje en pared grande
Grote wandbevestigingsbeugel

HEEER (K
CHS 4 oj2E =ap

B#ITEE (X)
250 250 1.0kg
222.5 222.5
192.5 192.5
162.5 162.5
132.5 132.5
102.5 102.5
72.5 725
42.5] 425
i \ | 2
! [ I R e R R ) D b b b b o H
: / o ]
i = 24-$5x20 6-¢5 =REP™ :
i jE |
] - 1
: :
L: o O O, D o o O O, D o lr\— :—‘
]
7] i 225 225 '
SP-K8 TR
YSP-800 1125 1125
142.5 142.5
170 170
} 540.2 |
Small wall mount bracket Soporte de montaje en pared pequenio Unit with bracket Unidad con ménsula
Petit support mural Kleine wandbevestigingsbeugel Le systéme avec son support Toestel met de beugel
Kleine Wandhalterung FEEHESR () Einheit mit Halterung BHERR
Litet viggmonteringsfiste A8 8 nl2E =Ha23l Ljudprojektorn med féstet =gai3lo] = 717]
Staffa di installazione a muro piccola  EERNFEE (V) Unita con staffa D~
0.1kg X 2
78 | 129.9
H TE_'
L
; ; (2845 —
P—=c
[ ' w1 —
| 28 | = ]
; | 2-$4.5x6.5
[ o ] il
n
16.9 M6TAP <
o1 “Yspat
— YSP-800
(mm) (mm)




WALL MOUNT BRACKET

SPM-K8

Installation Manual

Thank you very much for purchasing the Wall Mount Bracket SPM-KS. Be sure to read this manual thoroughly before
using this bracket. After you have read this manual, retain it for future reference.

When installing the Sound Projector using this bracket, all installation work must be performed by
a qualified contractor or dealer personnel. The customer must never attempt to perform this

installation work. Improper or inadequate installation could cause the Sound Projector to fall,
resulting in personal injury.

SAFETY INSTRUCTIONS

¢ Always follow the instructions set forth in this manual when installing the Sound Projector using
this bracket.
Improper or inadequate installation could cause the Sound Projector to fall, resulting in personal injury.

¢ The installation must be secure enough to bear the weight of the Sound Projector, the wall bracket
and other hardware indefinitely, and must also be secure enough to withstand vibrations.
Improper or inadequate installation could cause the Sound Projector to fall, resulting in personal injury.

* To ensure safety, all screws must be tightened securely.
Loose screws could cause the Sound Projector to fall, resulting in personal injury.

¢ Make sure to leave adequate ventilation space around the unit to allow heat generated by the
Sound Projector to dissipate.
Failure to provide adequate space around the unit could cause the Sound Projector to overheat internally, resulting in a
fire.

* Never hang from the Sound Projector or the wall bracket.

Hanging from the Sound Projector or the wall bracket could cause the Sound Projector or the wall bracket to fall,
resulting in personal injury.

¢ Once the Sound Projector is installed, safety checks should be conducted on a regular basis.
If the Sound Projector is used over an extended period of time, screws can become loose and the installation can
become weaker due to the passage of time, vibrations, etc.

E-1



ACCESSORIES

Check that all of the following parts are included.

Large wall mount bracket (x1)

© S oo

]

[ [==Yp==—
QEEQQ@

]

)
QQQQQQQ
QQG

Small wall mount brackets (x2) Safety wires (x2)

Length 300mm

Projector mounting screws (spare)
(M4 x 10) (x8)

Projector mounting screws
(M6 x 16) (x2) W

&

Prepare more than six sets of commercially available tapping screws (M4, 25 mm or more in length)
and washers in addition to the accessories shown above.

E-2



INSTALLATION PROCEDURE

Make sure to leave adequate ventilation space around the unit and follow the instructions below.

1 Attach the large wall mount bracket to the wall.

In order to secure the unit to the wall, you will need to attach the bracket to the wall first in a manner befitting the

structure and quality of the wall.

Choose a location where the wall can bear the weight of the whole unit.

Before installing the bracket, make sure of the size (see “DIMENSIONS” on the first page of this manual).
Installation example 4mm Tapping Screw (commercially available)

In order to secure the unit to the wall, drive four (or more) tapping

screws from the outside through the holes in the wall mount bracket.

e, S,E s e = =

o=

— S S = .

Washer
(commercially
available)

o=

( Installing into a dry
wall

25mm or more

Installing directly‘
into a wall, etc.

25mm or more

Beam, etc. Dry wall

J

Choose a secure wall or beam to fasten the screws. Do not install them into walls made of weak
material that can easily come off, such as mortar or plywood wall panels. Loose screws could cause
the projector to fall, resulting in personal injury.

2 Detach the metal apparatuses from the Sound Projector.

Detach the metal apparatuses from the rear left and right sides of the Sound Projector.
You need the detached screws in procedure 3. Be careful not to lose them.

e N

\/ \[

® o oo (o0 ® o

Metal
apparatus

Metal
apparatus

E-3



INSTALLATION PROCEDURE

3 Attach the small wall mount brackets to the Sound Projector.

Use screws of the metal apparatus (M4) detached in procedure 2 to securely attach the two small wall mount brackets to
the rear left and right sides of the Sound Projector.

Rear View

Small wall mount bracket

\

Detached screw of the
metal apparatus (M4)

/

Sound Projector

Attach the brackets to the
rear left and right sides of
the Sound Projector.

If you tighten the screws on the slant, the screw threads in the projector might be broken.
Be careful when using electric tools.

4 Attach the safety wire.
Attach the safety wire to the small wall mount bracket to prevent the Sound Projector from falling.
X Slip one end
. hrough the loo
Safet /t g p
s m at the other end

o

T it
00onon 2 @ ]\ Slip the safety wire

between the bracket
& and the projector
Repeat the same
procedure for the
other bracket.

E-4



INSTALLATION PROCEDURE

5 Mount the Sound Projector on the wall.

Fit the mounting guide hooks of the small wall mount brackets attached to the Sound Projector into the holes on the left
and right sides of the large wall mount bracket and then slide the unit to the right.

Fit the hook into the
hole.

o S

D O o
o o
@

Hold the Sound Projector tight with both hands when attaching or removing the Sound Projector to or
from the wall. Holding the Sound projector loosely could cause the Sound projector to fall, resulting in
personal injury.

E-5



INSTALLATION PROCEDURE

6 Secure the unit.

Align the holes in the large wall mount bracket with the holes in the bottom of the small wall mount brackets, and then
use two of the supplied projector mounting screws (M6 x 16) to secure the unit.

Bottom View

Projector mounting
screws (M6)

\

ooOOoo00o0
[ro=ms I e
o j—§0§ &

Sound Projector

7 Attach the safety wires to the wall.

Pass the screws (commercially available) through the loops of the safety wires and then tighten the screws to secure the
safety wires to the wall.
Make sure that the screws are strong enough to bear the weight of the Sound Projector and the brackets in case they fall.

Screw
(commercially available) .
Secure the safety wire to
\ __---"7 the wall. Secure the safety wire
=8 to the wall.
R
o8
[ E—
Washer

(commercially available)

Attach the safety wires tight.

E-6



SUPPORT MURAL

SPM-K8

=
e
)
>

0
=
@

Manuel d’installation

Nous vous remercions d’avoir porté votre choix sur le support mural SPM-K8. Veuillez prendre soin de lire attentivement
ce manuel avant d’installer ce support. Conservez-le pour référence ultérieure.

Linstallation du projecteur de son a I’aide de ce support doit étre réalisé par un ouvrier compétent
ou un représentant du revendeur. En aucun cas, vous ne devez tenter d’effectuer I'installation par

vous-méme. Une erreur d’installation peut provoquer la chute du projecteur de son, entrainant des
blessures.

INSTRUCTIONS DE SECURITE

* Respectez les instructions que contient ce manuel et qui concernent I’'installation du projecteur de
son au moyen de ce support mural.
Une erreur d’installation peut provoquer la chute du projecteur de son, entrainant des blessures.

¢ Linstallation doit étre en mesure de résister, sans limite de durée, au poids du projecteur de son,
du support mural et de la quincaillerie; elle doit également s’accommoder, le cas échéant, des
vibrations.
Une erreur d’installation peut provoquer la chute du projecteur de son, entrainant des blessures.

¢ Pour garantir la sécurité, toutes les vis doivent étre soigneusement serrées.
Un défaut de serrage peut provoquer la chute du projecteur de son, entrainant des blessures.

¢ Veillez a ménager un espace suffisant autour le projecteur de son pour que la chaleur qu’il dégage
puisse se dissiper.
Faute de ménager un espace suffisant autour le projecteur de son, il pourrait surchauffer, ce qui est susceptible de
provoquer un incendie.

¢ Ne vous suspendez pas au projecteur de son, ni au support mural.
En vous suspendant au projecteur de son ou au support, vous pouvez provoquer la chute du projecteur de son ou du
support, entrainant des blessures.

¢ Apres installation du projecteur de son, des vérifications de sécurité doivent étre effectuées
périodiquement.
Lorsque le projecteur de son est utilisé pendant une période prolongée, les vis peuvent se desserrer, en raison de
vibrations, etc., rendant 1’installation moins sire.

F-1



ACCESSOIRES

Assurez-vous que les picces suivantes font partie de la fourniture.

Grands supports muraux (x1)

© S oo

]

(]

EQQEQQQ

]

)
QQQQQQQ
QQG

Petits supports muraux (x2) Cables de sécurité (x2)

Longueur 300 mm

Vis de fixation du systeme
acoustique (rechange)
(M4 x 10) (x8)

Vis de fixation du systéme

acoustique (M6 x 16) (x2) W

&

Procurez-vous plus de six jeux de vis du commerce (M4, 25 mm ou plus de longueur) et de rondelles,
en plus des accessoires indiqués ci-dessus.

F-2



METHODE D’INSTALLATION

Veillez 2 ménager un espace suffisant autour du systéme pour permettre sa ventilation, et respectez les instructions
suivantes.

1 Fixez le grand support au mur.

De fagon que le systéme puisse étre fixé au mur, il vous faut tout d’abord poser le support en tenant compte de la
structure et de la qualité du mur.

Choisissez un emplacement dans le mur capable de supporter le poids de 'appareil complet. Avant de fixer le support,
vérifiez la taille (voir “DIMENSIONS” a la premiere page de ce manuel).

Exemple
d’installation

Vis taraudeuse de 4 mm (disponible dans le commerce)
Pour fixer I'appareil au mur, vissez quatre vis taraudeuses ou plus de
I’extérieur par les orifices pratiqués dans le support mural.

Rondelles(disponible
dans le commerce)

Fixation sur une
paroi légere
25mm ou plus

Fixation directe
sur un mur, etc.

25mm ou plus

%
Poutre, etc. Paroi légere

\. J

Choisissez un mur résistant ou une poutre pour fixer les vis. Ne pas les fixer dans des parois en
matériaux légers pouvant facilement rompre, par exemple une paroi en platre ou en contreplaqué. Un
défaut de serrage peut provoquer la chute du systéme, entrainant des blessures.

2 Deétachez les plaquettes métalliques du projecteur de son.

Détachez les plaquettes métalliques des cOtés arriere gauche et droit du projecteur de son.
Vous aurez besoin des vis détachées a I’étape 3. Attention de ne pas les perdre.

' Y

it
Plaquettes

métalliques

Plaquettes

métalliques

F-3



METHODE D’INSTALLATION

3 Fixez les petits supports muraux au projecteur de son.

Utilisez les vis des plaquettes métalliques (M4) détachées a 1’étape 2 pour fixer les deux petits supports muraux aux

cOtés arriere gauche et droit du projecteur de son.

Vue arriére

Petit support mural

Vis détachée de la
plaquette métallique (M4)

/

Projecteur de son

Fixez les supports aux
co6tés gauche et droit du
projecteur de son.

Si vous serrez les vis de travers, les filetages dans le projecteur risquent d’étre endommagés. Faites
attention si vous utilisez un outil électrique.

4 Fixez le cable de sécurite.

Fixez le cable de sécurité au petit support mural pour empécher le projecteur sonore de tomber.

Engagez une extrémité
Cable de sécurité /qans 1:& b.01’1cle, &
m I’extrémité opposée

]

o it
|]|]|||]|||]|]|] © _® ]\Insérez le cable de

sécurité entre le support

et le projecteur
Procédez
pareillement pour
I’autre support.

F-4



METHODE D’INSTALLATION

5 Fixez le projecteur de son au mur.

Engagez les ergots de fixation des petits supports muraux du projecteur de son dans les pergages gauche et droit du grand
support mural et faites glisser 'appareil vers la droite.

@ Engagez I’ergot dans
le pergage.

Faites glisser le
» @ systéme acoustique
@ vers la droite.

D O o
o o
@

Tenez bien le projecteur de son avec les deux mains lorsque vous fixez le projecteur de son au mur ou
le retirez du mur. Si vous ne le tenez pas bien, il risque de tomber et de blesser quelqu’un.

F-5



METHODE D’INSTALLATION

6 Assurez le maintien du systéme.

Placez les percages du grand support mural en regard des percages pratiqués dans le fond des petits supports muraux puis
assurez le maintien du projecteur au moyen de 2 vis (M6 x 16) de fixation fournies.

Vue de dessous

Vis de fixation du
Projecteur systeme acoustique (M6)

de son \ O /

|
ooOOoo00o0
[ro=ms I e
o j—§0§ &

7 Fixez les cables de sécurité au mur.

Engagez une vis (disponible dans le commerce) dans la boucle de chaque cable de fixation et serrez les vis pour assurer
le maintien des cébles de sécurité au mur.

Assurez-vous que les vis ont la solidité requise pour résister au poids du projecteur de son et des supports s’ils venaient a
se détacher.

Vis (disponible dans le
commerce) . .
Fixez le cable de sécurité
\ e=="7 qu mur. Fixez le cable de
o= sécurité au mur.
7Y
o=
|
Rondelles (disponible

dans le commerce)

Fixez bien les cables de sécurité.

F-6



WANDHALTERUNG

SPM-K8

Installationsanleitung

Wir mochten uns bei dieser Gelegenheit dafiir bedanken, dass Sie sich fiir die Wandhalterung SPM-KS8 entschieden
haben. Bitte lesen Sie diese Anleitung aufmerksam durch, bevor Sie diese Halterung verwenden. Nachdem Sie diese
Anleitung gelesen haben, bewahren Sie diese fiir spitere Nachschlagzwecke sorgfiltig auf.

Bei der Installation des Soundprojektors unter Verwendung dieser Halterung miissen alle
Einbauarbeiten von einem qualifizierten Wartungs- oder Kundendiensttechniker ausgefiihrt werden.
Der Kunde sollte niemals versuchen, diese Einbauarbeiten selbst auszufiihren. Fehlerhafte oder

ungeeignete Installation kann zu einem Herunterfallen des Soundprojektors und damit zu
personlichen Verletzungen fiihren.

SICHERHEITSANWEISUNGEN

* Befolgen Sie immer die in dieser Anleitung aufgefiihrten Instruktionen, wenn der Soundprojektor
unter Verwendung dieser Halterung eingebaut wird.
Fehlerhafte oder ungeeignete Installation kann zu einem Herunterfallen des Soundprojektors und damit zu personlichen Verletzungen fiihren.

* Die Installation muss sicher ausgefiihrt werden, um das Gewicht des Soundprojektors, der
Wandhalterung und der anderen Hardware auf Dauer abstiitzen und Vibrationen widerstehen zu kénnen.
Fehlerhafte oder ungeeignete Installation kann zu einem Herunterfallen des Soundprojektors und damit zu personlichen Verletzungen fiihren.

* Fir optimale Sicherheit ist es unbedingt erforderlich, dass alle Schrauben richtig festgezogen werden.
Lose Schrauben konnen zu einem Herunterfallen des Soundprojektors und damit zu personlichen Verletzungen fiihren.

¢ Halten Sie ausreichenden Abstand fiir die Beliiftung rund um das Gerét ein, damit die von dem
Soundprojektor erzeugte Warme gut abgefiihrt werden kann.
Bei unzureichender Beliiftung kann es zu einer internen Uberhitzung des Soundprojektors kommen, was einen Brand verursachen kann.

¢ Hangen Sie niemals etwas auf dem Soundprojektor oder der Wandhalterung auf.
Falls Sie etwas auf dem Soundprojektor oder der Wandhalterung aufhéngen, kann der Soundprojektor oder die
Wandhalterung herunterfallen, wodurch personliche Verletzungen verursacht werden konnen.

¢ Sobald der Soundprojektor richtig installiert ist, sollten in regelmaBigen Abstinden
Sicherheitskontrollen ausgefiihrt werden.
Wird der Soundprojektor fiir lingere Zeit verwendet, dann konnen sich die Schrauben 16sen bzw. die Installation kann
aufgrund von Zeitablauf, Vibrationen usw. geschwicht werden.

G-1



ZUBEHOR

Stellen Sie sicher, dass alle nachfolgend aufgefiihrten Teile enthalten sind.

GroBle Wandhalterung (x1)

© S oo

]

[ [==Yp==—
QEEQQ@

]

)
QQQQQQQ
QQG

Kleine Wandhalterungen (x2) Sicherheitsdréhte (x2)

Léinge 300 mm

Projektorbefestigungsschrauben (Reserve)
(M4 x 10) (x8)

&

Projektorbefestigungsschrauben
(M6 x 16) (x2)

&

Legen zusiétzlich zu den oben aufgefiihrten Zubehorteilen mehr als sechs Satze handelsiiblicher
Schrauben (M4, Lange 25 mm oder mehr) sowie Unterlegscheiben bereit.

G-2



INSTALLATIONSVORGANG

Halten Sie ausreichend Abstand rund um das Gerit ein, um ausreichende Beliiftung sicherzustellen, und befolgen Sie die
nachfolgenden Instruktionen.

1 Befestigen Sie die groBe Wandhalterung an der Wand.

Um das Gerit an der Wand zu sichern, miissen Sie zuerst die Halterung in Abhingigkeit von der Beschaffenheit der
Wand richtig an dieser befestigen.

Wiihlen Sie einen Installationsort aus, an dem die Wand das Gewicht des gesamten Gerites abstiitzen kann. Vor dem
Einbau der Halterung iiberpriifen Sie die Grofie (sieche ,, ABMESSUNGEN® auf der ersten Seite dieser Anleitung).

Installationsbeispiel 4 -mm-Schneidschraube (im Fachhandel erhiltlich)
Um das Gerét sicher an der Wand zu befestigen, drehen Sie vier
(oder mehr) Schneidschrauben von auBen durch die Offnungen in
der Wandhalterung ein.

Unterlegescheiben
(im Fachhandel - e
erhiltlich) S S s s o o o
: : Direkte )
Installation an einer Wandinstallation,
Trockenwand USW.

25 mm oder mehr 25 mm oder mehr

Z

Trager usw. Trockenwand
.

J

Wihlen Sie eine sichere Wand oder einen Trager zum Befestigen der Schrauben. Installieren Sie sie
nicht an Wéanden aus schwachem Material, das sich 16sen kann, wie Mortel oder Sperrholzplatten.
Lose Schrauben kénnen zu einem Herunterfallen des Projektors und damit zu persénlichen
Verletzungen fiihren.

2 Nehmen Sie den Metallbeschlag vom Soundprojektor ab.

Nehmen Sie die Beschlidge von den hinteren linken und rechten Seiten des Soundprojektors ab.
Sie bendtigen die abgenommenen Schrauben in Vorgang 3. Achten Sie darauf, sie nicht zu verlieren.

' Y

—\/ \[

© o oo (o0 © o

Metallbeschlag

—— Metallbeschlag




INSTALLATIONSVORGANG

3 Befestigen Sie die kleinen Wandhalterungen an dem
Soundprojektor.

Verwenden Sie die Schrauben des Metallbeschlags (M4), der in Vorgang 2 abgenommen wurde, um die zwei kleinen

Wandhalterungen an den hinteren linken und rechten Seiten des Soundprojektors anzubringen.

Riickansicht

Kleine Wandhalterung

Abgenommene Schrauben

des Metallbeschlags (M4) Befestigen Sie die

Halterungen an den hinteren
linken und rechten Seiten
des Soundprojektors.
Soundprojektor

Wenn Sie die Schrauben schréag festziehen, konnen die Schraubgewinde im Projektor zerstort werden.
Seien Sie bei der Verwendung von elektrischen Werkzeugen vorsichtig.

4 Bringen Sie den Sicherheitsdraht an.

Bringen Sie den Sicherheitsdraht an der kleinen Wandhalterung an, um Herunterfallen des Soundprojektors zu

verhindern.
Fiihren Sie ein Ende
) ) / durch die Schlaufe an
Sicherheitsdraht >é€

dem anderen Ende

o

T e
1o e o TT— Fiihren Sie den
Sicherheitsdraht
& zwischen Halterung und

Projektor durch

Wiederholen Sie den
gleichen Vorgang fiir
die andere Halterung.

G-4



INSTALLATIONSVORGANG

5 Montieren Sie den Soundprojektor an der Wand.

Fiihren Sie die Einbaufiihrungshaken der an dem Soundprojektor angebrachten kleinen Wandhalterungen in die
Bohrungen an den linken und rechten Seiten der gro3en Wandhalterung ein, und schieben Sie danach das Gerit nach
rechts.

Fiihren Sie den Haken
in die Bohrung ein.

» @ Schieben Sie das
Geriit nach rechts.

Halten Sie den Soundprojektor beim Anbringen oder Abnehmen des Soundprojektors an/von der
Wand sicher mit beiden Handen fest. Wenn der Soundprojektor locker gehalten wird, konnte er
herunterfallen und damit zu persénlichen Verletzungen fiihren.



INSTALLATIONSVORGANG

6 Sichern Sie das Gerit.

Richten Sie die Bohrungen der groBen Wandhalterung mit den Bohrungen an der Unterseite der kleinen
Wandhalterungen aus, und verwenden Sie danach zwei der mitgelieferten Projektorbefestigungsschrauben (M6 x 16) zur
Sicherung des Gerites.

Bodenansicht

Projektorbefestigungsschrauben
(M6)

\
ooOOo000
= J e

Soundprojektor

7 Befestigen Sie die Sicherungsdréhte an der Wand.

Fiihren Sie Schrauben (im Fachhandel erhiltlich) durch die Schlaufen der Sicherheitsdrihte, und ziehen Sie danach die
Schrauben fest, um die Sicherungsdrihte an der Wand zu sichern.

Stellen Sie sicher, dass die Schrauben stark genug sind, um das Gewicht des Soundprojektors und der Halterung tragen
zu konnen, wenn diese herunterfallen.

Schrauben
(im Fachhandel erhiltlich) Sichern Sie den Sichern Sie den
\ B _---="7 Sicherungsdraht an der Wand. Sicherungsdraht an der
o= Wand.
=Y
o8
| E—

Unterlegescheiben
(im Fachhandel erhiltlich)

Bringen Sie den Sicherheitsdraht fest an.

G-6



VAGGMONTERINGSFASTE

SPM-K8

Monteringsanvisning

Tack sa mycket for inkdpet av Viaggmonteringsfastet SPM-K8. Se till att noga ldsa igenom denna monteringsanvisning
innan féstet tas i bruk. Spara bruksanvisningen for eventuella framtida behov.

Vid montering av Ljudprojektorn med hjélp av detta fiste maste allt installationsarbete utforas av
kvalificerad entreprenérs- eller aterférsaljarpersonal. Kunden ska aldrig forsoka utféra

installationsarbetet sjélv. Felaktig eller slarvig montering kan leda till att Ljudprojektorn faller ner,
vilket kan resultera i personskada.

SAKERHETSFORESKRIFTER

¢ Folj alltid de anvisningar som ges héri nar Ljudprojektorn monteras med hjélp av detta faste.
Felaktig eller slarvig montering kan leda till att Ljudprojektorn faller ner, vilket kan resultera i personskada.

¢ Monteringen maste vara tillréckligt stadig for att kunna béra vikten hos Ljudprojektorn, vaggfastet
och 6vriga metallbeslag for alltid, och maste aven tillrackligt stadig att motsta vibrationer.
Felaktig eller slarvig montering kan leda till att Ljudprojektorn faller ner, vilket kan resultera i personskada.

¢ For garanterad sakerhet maste alla skruvar vara ordentligt atdragna.
Losa skruvar kan leda till att Ljudprojektorn faller ner, vilket kan resultera i personskada.

¢ Se noga till att IAmna tillrdckligt med ventilationsutrymme runt enheten, sa att virme som alstras av
Ljudprojektorn kan ledas bort.
Underlatenhet att sorja for tillrdckligt med utrymme runt enheten kan fororsaka 6verhettning inuti Ljudprojektorn,
vilket kan resultera i brand.

¢ Haéng aldrig i Ljudprojektorn eller vaggféstet.
Om en person hinger i Ljudprojektorn eller viggtistet finns det risk att Ljudprojektor faller ner, vilket kan resultera i
personskada.

e Efter att Ljudprojektorn har monterats, bor sdkerhetskontroller genomféras med jamna mellanrum.
Om Ljudprojektorn anvéinds under en lingre tidsperiod, kan det hénda att skruvar lossnar och installationen kan
forsvagas till f6ljd av tidens gang, vibrationer etc.

Sw-1



TILLBEHOR

Kontrollera att alla delar som anges nedan finns med i férpackningen.

Stort viggmonteringsfiste (x1)

© S oo

]

[ [==Yp==—
QEEQQ@

]

)
QQQQQQQ
QQG

Sma viggmonteringsfisten (x2) Sidkerhetsvajrar (x2)

Léingd 300 mm

Medfoljande monteringsskruvar (reserv)
(M4 x 10) (x8)

&

Medfoljande monteringsskruvar
(M6 x 16) (x2)

&

Ha till hands sex stycken skruvar (M4, langd 25 mm eller mer) (tillval) och brickor utéver de tillbehér
som visas ovan.

Sw-2



MONTERINGSATGARDER

Se till att ldmna tillrdckligt med ventilationsutrymme runt ljudprojektorn och att f6lja foljande anvisningar.

1 Montera fast det stora vaggmonteringsféastet i vaggen.

For att ljudprojektorn ska kunna monteras pa viggen maste det stora fistet forst fistas i viggen pa lampligt sitt enligt
viggens uppbyggnad och kvalitet.

Vilj en plats dér viggen kan béra upp hela enhetens vikt. Innan fistet monteras, kontrollera storleken (se
“MATTSKISSER?” pa forsta sidan i denna bruksanvisning).

4 mm sjilvgéngande skruv (tillval)

For att enheten ska sitta sékert pa viaggen ska fyra (eller fler)
sjalvgangande skruvar dras i fran utsidan genom halen i
vaggmonteringsféstet.

Monteringsexempel

W,o ======@

(] _a s
— S S = .

Bricka(tillval)
( .. - X 3\ o 0)

Montering i en Montering direkt

gipsvigg ien vigg etc.

25mm eller mer 25mm eller mer

7
I_'_.I

Bometc. Gipsvigg

Vilj en stabil vdgg eller bom for att fasta skruvarna. Skruva inte in dem i vdggar gjorda av vekt material
som latt kan lossna, som murbruk eller vaggpaneler av plywood. Lésa skruvar kan leda till att
ljudprojektorn faller ner, vilket kan resultera i personskada.

2 Ta loss metalldonen fran Ljudprojektorn.

Ta loss metalldonen som sitter till vianster och hoger pa Ljudprojektorns baksida.
De lossade skruvarna behdvs i steg 3. Var forsiktig sé att de inte tappas bort.

e N

\/ \[

° o oo (o0 ® o

Metalldon ——— Metalldon

Sw-3




MONTERINGSATGARDER

3 Montera fast de sma vdggmonteringsfastena i Ljudprojektorn.

Anvind skruvarna (M4) for metalldonen som togs loss i steg 2 for att skruva fast de tva sma viggmonteringsfistena

ordentligt till véanster och hoger pa Ljudprojektorns baksida.

Sett bakifran

Sma viggmonteringsfiste

De lossade skruvarna

for metalldonen (M4)
Skruva fast fastena till
vanster och hoger pa
Ljudprojektor Ljudprojektorns baksida.

Om skruvarna dras i snett, kan skruvgangorna i projektorn skadas. Var férsiktig nar el-verktyg anvands.

4 Sétt fast sdkerhetsvajern.

Sitt fast sidkerhetsvajern i det lilla monteringsfistet for att forhindra Ljudprojektorn faller ner.

Tréd in ena dnden
Sikerhetsvajer /1 oglar?.l den
I — ¢ andra tinden

]

T =
00000 °© © ]\ Dra sikerhetsvajern

mellan fistet och
& projektorn
GOr samma sak
med det andra
fastet.

Sw-4



MONTERINGSATGARDER

5 Montera Ljudprojektorn pa védggen.

Passa in monteringshakarna pa de sma viggmonteringsfistena, som sitter pa Ljudprojektorn, i hélen till vinster och
hoger pa det stora viggmonteringsféstet och skjut sedan enheten &t hoger.

@ For in kroken i hélet.

o N

D O o
o o
@

Hall i Ljudprojektorn stadigt med bada hinderna nar Ljudprojektorn satts upp pa eller tas ner fran
viggen. Om man inte haller ordentligt i Ljudprojektorn kan det leda till att Ljudprojektorn faller ner,
vilket kan resultera i personskada.

Sw-5



MONTERINGSATGARDER

6 Skruva fast ljudprojektorn.

Anpassa hélen pa det stora viggmonteringsfistet till hilen pa undersidan av de sma viggmonteringsfistena, och anvéind
sedan tva av de medfoljande monteringsskruvarna (M6 x 16) till att skruva fast enheten.

Sett underifran

Medfoljande
monteringsskruvar (M6)

\

ooOOoo00o0
[ro=ms I e
o j—§0§ &

Ljudprojektor

7 Féast sédkerhetsvajrarna i vaggen.

For in en lamplig skruv (tillval) genom dglan pa varje sékerhetsvajer och dra sedan at skruvarna for att fista
sikerhetsvajrarna i viiggen.

Kontrollera att skruvarna ir tillrdckligt starka for at kunna bira Ljudprojektorns och fidstenas sammanlagda vikt i
hindelse att de skulle lossna.

Skruv (tillval) Skruva fast
\ o7 sikerhetsvajern i viggen. Skruva fast
o9 sdkerhetsvajern i viggen.
Y
o=
[—
Bricka (tillval)

Fast sakerhetsvajrarna ordentligt.

Sw-6



STAFFA A MURO

SPM-K8

Manuale di installazione

Vi ringraziamo per aver acquistato la staffa di installazione a muro SPM-KS8. Prima di usare la staffa, leggerne fino in
fondo il manuale. Dopo averlo finito, tenerlo in un luogo sicuro per poterlo consultare ancora al momento del bisogno.

Se si installa il proiettore audio con questa staffa, tutto il lavoro di installazione deve venire affidato
a personale qualificato o al negozio di acquisto. Il cliente non deve per alcun motivo effettuare

Iinstallazione da sé. Un’installazione inadeguata potrebbe lasciar cadere il proiettore audio,
causando infortuni.

NORME DI SICUREZZA

* Nell’installare il proiettore audio con questa staffa, seguire sempre le istruzioni di questo manuale.
Un’installazione inadeguata potrebbe lasciar cadere il proiettore audio, causando infortuni.

¢ Linstallazione deve essere solida a sufficienza per sopportare il peso del proiettore audio, quello
della staffa e degli altri elementi di installazione senza limiti di tempo ed essere in grado di
sopportare vibrazioni.
Un’installazione inadeguata potrebbe lasciar cadere il proiettore audio, causando infortuni.

¢ Per assicurarsi la sicurezza del sistema, stringere fermamente tutte le viti.
Le viti allentate possono lasciar cadere il proiettore audio, causando infortuni.

¢ Controllare che attorno all’unita vi sia sufficiente spazio per la dispersione del calore che il
proiettore audio genera.
La mancanza di spazio per la ventilazione pud causare il surriscaldarsi del proiettore audio, e quindi incendi.

¢ Non sospendersi dal proiettore audio o dalla staffa a muro.
Sospendendosi dal proiettore o dalla sua staffa si puo far cadere il proiettore audio o la staffa, causando infortuni.

¢ Una volta che il proiettore audio & installato, fare controlli di sicurezza ad intervalli regolari.
Se il proiettore audio viene usato per un lungo periodo, le viti si possono allentare e 1’installazione indebolirsi a causa
del passaggio del tempo, vibrazioni, ecc.



ACCESSORI

Controllare che la confezione contenga quanto segue.

Staffa di installazione a muro grande (x1)

© S oo

]

(]

EQQEQQQ

]

)
QQQQQQQ
QQG

Staffe di installazione a muro piccole (x2) Fili di sicurezza (x2)

Lunghezza 300mm

Viti di fissaggio del proiettore (scorta)
(M4 x 10) (x8)

&

Viti di fissaggio del proiettore
(M6 x 16) (x2)

&

Preparare piu di sei set di viti (M4, 25 mm o piu di lunghezza) e rondelle reperibili in commercio oltre
agli accessori sopraindicati.



PROCEDURA DI INSTALLAZIONE

Controllare che attorno all’unita vi sia spazio sufficiente per la sua ventilazione e seguire le istruzioni che seguono.

1 Applicare la grande staffa di installazione a muro su di un
muro.

Per fermare quest’unita ad un muro & necessario applicare la staffa al muro in modo sicuro, tenendo in considerazione la
qualita e la struttura del muro.
Scegliere una posizione dove il muro sia in grado di sostenere il peso dell’intera unita. Prima di installare la staffa,
accertarsi delle dimensioni (vedere “DIMENSIONI" nella prima pagina di questo manuale).

Esempio di installazione Vite autofilettante da 4 mm (reperibile in commercio)
Per fissare I'unita al muro, avvitare dall’esterno quattro (o piu) viti
autofilettanti attraverso i fori della staffa a muro.

/ @
Rondella

(reperibile in

commercio)
Installazione suun  Installazione diretta
muro a secco Su un muro, ecc.
25mm o piu 25mm o piu

%
e e

Trave, ecc. Muro a secco

Scegliere un muro o una trave sicuri per fissare le viti. Non installare su muri costruiti con materiali
deboli che possono sgretolarsi con facilita come malta o pannelli di compensato. Le viti allentate
possono lasciar cadere il proiettore, causando infortuni.

2 Rimuovere le parti metalliche dal proiettore audio.

Rimuovere le parti metalliche dal lato posteriore sinistro e destro del proiettore audio.
Sono necessarie le viti rimosse nella fase 3. Fare attenzione a non perderle.

' Y

OMD [ m o
Parte Parte

metallica metallica




PROCEDURA DI INSTALLAZIONE

3 Applicare le staffe di installazione a muro piccole al proiettore
audio.

Utilizzare le viti dell’apparato metallico (M4) rimosse nella fase 2 per fissare saldamente le due piccole staffe a muro al

lato posteriore sinistro e destro del proiettore audio.

Visione dal retro

Staffa di installazione a
muro piccola

Vite rimossa della parte

metallica (M4)

Proiettore audio

Applicare le staffe ai lati
posteriori destro e sinistro
del proiettore audio.

Se si stringono le viti inclinate, la filettatura nel proiettore audio potrebbe rovinarsi. Fare attenzione
nell’'usare attrezzi elettrici.

4 Applicare saldamente i fili di sicurezza.

Applicare il filo di sicurezza alla staffa a muro piccola per evitare la caduta del proiettore.

Far scivolare un capo
. .. attraverso 1’occhiello
Filo di sicurezza
_

all’altra estremita

]

" il
mm e e i scivolare il filo di

sicurezza tra la staffa ed
& il proiettore
Ripetere la
procedura con
I’altra staffa.




PROCEDURA DI INSTALLAZIONE

5 Installare il proiettore audio sul muro.

Inserire i ganci guida per I’installazione delle staffe piccole di installazione applicate al proiettore audio nei fori sui lati
sinistro e destro della staffa grande di installazione e quindi far scivolare quest’unita verso destra.

@ Inserire il gancio nel
foro.

Far scivolare
* quest’unita verso

@) destra.

Tenere saldamente il proiettore audio con entrambe le mani quando si installa o si rimuove il
proiettore audio dal muro. Una presa lenta del proiettore audio potrebbe causarne la caduta e lesioni

personali.



PROCEDURA DI INSTALLAZIONE

6 Fermare quest'unita.

Allineare i due fori della staffa di installazione a muro grande con i fori sul fondo delle staffe di installazione a muro
piccole ed usare una delle due viti di installazione (M6 x 16) in dotazione per fermare quest’unita.

Visione dal basso

Viti di fissaggio del
proiettore (MO6)

\
|
ooOOoo00o0
[ro=ms I e
o j—§0§ &

Proiettore audio

7 Fermare i fili di sicurezza al muro.

Far passare le viti (reperibili in commercio) attraverso gli occhielli dei fili di sicurezza e quindi stringere le viti per
fermare i fili di sicurezza al muro.

Controllare che le viti siano sufficientemente solide da sopportare il peso del proiettore audio e delle staffe nel caso in cui
cadano.

Vite (reperibile in

COMMercio) R
Fermare i fili di sicurezza
\ v al muro. Fermare i fili di
bl sicurezza al muro.
=Y
oy

Rondella (reperibile in
commercio)

Applicare saldamente i fili di sicurezza.



SOPORTE DE MONTAJE EN PARED

SPM-K8

Manual de instalacion

Muchas gracias por haber adquirido el soporte de montaje en pared SPM-K8. Asegtirese de leer completamente este
manual antes de usar este soporte. Guarde este manual después de leerlo para poder consultarlo en el futuro.

Cuando instale el proyector de sonido con este soporte, todo el trabajo de instalacion debera
hacerlo un contratista cualificado o el personal de su concesionario. El cliente no debe intentar

nunca hacer este trabajo de instalacion. Una instalacion mal hecha puede ser la causa de que se
caiga el proyector de sonido, pudiendo causar lesiones a personas.

INSTRUCCIONES DE SEGURIDAD

* Siga siempre las instrucciones de este manual cuando instale el proyector de sonido con este
soporte.
Una instalacién mal hecha puede ser la causa de que se caiga el proyector de sonido, pudiendo causar lesiones a
personas.

¢ Lainstalacion debera ser capaz de aguantar indefinidamente el peso del proyector de sonido, el
soporte y demas hardware, y también debera ser capaz de aguantar las vibraciones.
Una instalacién mal hecha puede ser la causa de que se caiga el proyector de sonido, pudiendo causar lesiones a
personas.

e Para garantizar la seguridad, todos los tornillos deben estar firmemente apretados.
Los tornillos flojos pueden ser la causa de que se caiga el proyector de sonido, pudiendo causar lesiones a personas.

¢ Asegurese de dejar un espacio de ventilacion adecuado alrededor de la unidad para que se disipe
el calor que genera el proyector de sonido.
Si no se proporciona un espacio adecuado alrededor de la unidad, el interior del proyector de sonido se recalentard y
podra producirse un incendio.

* No se cuelgue nunca del proyector de sonido ni del soporte.
Colgarse del proyector de sonido o el soporte puede causar la caida de los mismos, lo que podria causar lesiones a
personas.

¢ Una vez instalado el proyector de sonido, haga con frecuencia comprobaciones de seguridad.
Si el proyector de sonido se usa durante mucho tiempo, los tornillos podran aflojarse y la instalacién debilitarse
debido al paso del tiempo, las vibraciones, etc.

Sp-1



ACCESORIOS

Asegtirese de que se incluyan las piezas siguientes.

Soporte de montaje en pared grande (x1)

© S oo

]

(]

EQQEQQQ

]

)
QQQQQQQ
QQG

Soportes de montaje en pared Cables de seguridad (x2)
pequefios (x2)

Longitud de 300 mm

Tornillos de montaje del
proyector (repuesto)
(M4 x 10) (x8)

Tornillos de montaje del W
proyector (M6 x 16) (x2)

&

Ademas de los accesorios mostrados arriba, prepare mas de seis juegos de tornillos y arandelas de
venta en el comercio (M4, 25 mm de longitud o mas).

Sp-2



PROCEDIMIENTO DE INSTALACION

Asegurese de dejar un espacio de ventilacién adecuado alrededor de la unidad y siga las instrucciones de abajo.

1 Coloque el soporte de montaje en pared grande en la pared.

Para asegurar la unidad en la pared necesitard colocar primero el soporte teniendo en cuenta la estructura y la calidad de
la pared.

Elija un lugar donde la pared pueda aguantar el peso de toda la unidad. Antes de instalar el soporte, asegtirese del tamafio
(vea “DIMENSIONES” en la primera péagina de este manual).

Ejemplo de instalacion Tornillo autorroscante de 4 mm (de venta en el comercio)
Para asegurar la unidad en la pared, meta cuatro tornillos
autorroscantes (o mas) desde el exterior a través de los agujeros del
soporte de montaje en pared.

e, S,E s e = =

o=

e

Arandelas(de venta
en el comercio)

— S S = .

&
( . A - 2 o 0)
Instalacién en una Instalacion directa
pared seca en una pared, etc.
25 mm o mas 25 mm o mas

Viga, etc. Pared seca
\

Elija una pared o viga firme para colocar los tornillos. No los instale en paredes de materiales blandos
como, por ejemplo, mortero o madera contrachapada de donde puedan caerse facilmente Los
tornillos flojos pueden ser la causa de que se caiga el proyector, pudiendo causar lesiones a
personas.

2 Separe los aparatos de metal del proyector de sonido.

Separe los aparatos de metal de los lados traseros derecho e izquierdo del proyector de sonido.
Necesita quitar los tornillos en el procedimiento 3. Tenga cuidado para no perderlos.

' Y

° o oo (o0 o o

Aparato de metal —— Aparato de metal

Sp-3



PROCEDIMIENTO DE INSTALACION

3 Coloque los soportes de montaje en pared pequenos en el
proyector de sonido.

Use los tornillos del aparato de metal (M4) separado en el procedimiento 2 para colocar firmemente los dos soportes de

montaje en pared pequefios en los lados traseros derecho e izquierdo del proyector de sonido.

Vista trasera

Soporte de montaje en pared

. pequefio
Tornillo sesparado del
aparato de metal (M4) Coloque los soportes en
los lados traseros derecho
e izquierdo del proyector

Proyector de sonido de sonido.

Si aprieta los tornillos inclinados, las roscas del proyector podran romperse. Tenga cuidado cuando use
herramientas eléctricas.

4 Coloque el cable de seguridad.

Coloque el cable de seguridad en el soporte de montaje en pared pequefio para impedir que se caiga el proyector de

sonido.
Pase un extremo a
Cable de seguridad /traves del bucle del
I —¢
\

otro extremo

o

T il
|]|]|||]|l|]|]|l ©_© ]\Pase el cable de

seguridad entre el
& soporte y el proyector
Repita el mismo
procedimiento con
el otro soporte.

Sp-4



PROCEDIMIENTO DE INSTALACION

5 Monte el proyector de sonido en la pared.

Fije los ganchos de guia de montaje de los soportes de montaje en pared pequefios, colocados en el proyector de sonido,
en los agujeros de los lados derecho e izquierdo del soporte de montaje en pared grande, y luego deslice la unidad hacia
la derecha.

@ Coloque el gancho en
el agujero.

» @ Deslice 1a unidad

@ hacia la derecha.

Sujete bien el proyector de sonido con ambas manos cuando lo coloque en una pared o lo desmonte
de ella. Sujetar mal el proyector de sonido puese ser la causa de que éste se caiga y cause heridas a
personas.

Sp-5



PROCEDIMIENTO DE INSTALACION

6 Asegure la unidad.

Alinee los agujeros del soporte de montaje en pared grande con los agujeros del fondo de los soportes de montaje en
pared pequeifios, y luego utilice dos de los tornillos de montaje del proyector (M6 x 16) suministrados para asegurar la
unidad.

Vista inferior
Tornillos de montaje
del proyector (M6)
Proyector de

sonido \ O /

00000000
00 O

7 Coloque los cables de seguridad en la pared.

Pase los tornillos (de venta en el comercio) por los bucles de los cables de seguridad y luego apriételos para asegurar los
cables de seguridad en la pared.

Asegtirese de que los tornillos sean suficientemente fuertes como para aguantar el peso del proyector de sonido y los
soportes.

Tornillos(de venta en el

comercio)
Asegure el cable de
\ _ov--—7 seguridad en la pared. Asegure el cable de
o= seguridad en la pared.
—
o
[—

Arandelas(de venta en el
comercio)

Coloque firmemente los cables de seguridad.

Sp-6



WANDBEVESTIGINGSBEUGEL

SPM-K8

Installatiehandleiding

Hartelijk dank voor het aanschaffen van deze SPM-K8 Wandbevestigingsbeugel Lees deze handleiding zorgvuldig door
voor u deze beugel gaat gebruiken. Bewaar deze handleiding na gebruik zodat u er later nog iets in kunt opzoeken.

Wanneer de Geluidsprojector wordt geinstalleerd met deze beugel, dienen alle
installatiewerkzaamheden te worden uitgevoerd door daartoe bevoegd personeel of door of vanwege
de dealer. De gebruiker mag in geen geval proberen deze installatiewerkzaamheden zelf uit te

voeren. Door een onjuiste of ondeugdelijke installatie kan de Geluidsprojector vallen, hetgeen kan
leiden tot persoonlijk letsel.

VEILIGHEIDSINSTRUCTIES

¢ Volg de instructies in deze handleiding voor de installatie van de Geluidsprojector met behulp van
deze beugel stipt op.
Door een onjuiste of ondeugdelijke installatie kan de Geluidsprojector vallen, hetgeen kan leiden tot persoonlijk letsel.

=
[
o
(]
=
D
=}
o
(7]

¢ De bevestiging moet stevig genoeg zijn om het gewicht van de Geluidsprojector, de beugel en
eventuele andere apparatuur onvoorwaardelijk te kunnen dragen en moet ook bestand zijn tegen
trillingen.
Door een onjuiste of ondeugdelijke installatie kan de Geluidsprojector vallen, hetgeen kan leiden tot persoonlijk letsel.

* Met het oog op uw en andermans veiligheid dienen alle schroeven stevig te worden aangedraaid.
Door loszittende schroeven kan de Geluidsprojector vallen, hetgeen kan leiden tot persoonlijk letsel.

e Zorg voor voldoende ventilatieruimte rond het toestel zodat de door de Geluidsprojector
geproduceerde warmte kan ontsnappen.
Onvoldoende ruimte rond het toestel kan leiden tot oververhitting van de Geluidsprojector, hetgeen kan leiden tot brand.

¢ Ga niet aan de Geluidsprojector of aan de wandbeugel hangen.
Hangen aan de Geluidsprojector of aan de wandbeugel kan de Geluidsprojector of beugel onverwacht los doen
komen, hetgeen kan leiden tot persoonlijk letsel.

¢ Voer na de installatie van de Geluidsprojector regelmatig veiligheidsinspecties uit.
Wanneer de Geluidsprojector langere tijd gebruikt in gebruik is, kunnen er schroeven los komen te zitten en kan de
bevestiging mettertijd, door blootstelling aan trillingen enz. aan kracht inboeten.

D-1



TOEBEHOREN

Controleer of u alle volgende onderdelen inderdaad ontvangen heeft.

Grote wandbevestigingsbeugel (x1)

© S oo

]

(]

EQQEQQQ

]

)
QQQQQQQ
QQG

Kleine wandbevestigingsbeugels (x2) Veiligheidsdraden (x2)

Lengte 300 mm

Projector bevestigingsschroeven (reserve)
(M4 x 10) (x8)

&

Projector bevestigingsschroeven
(M6 x 16) (x2)

&

Zorg voor tenminste nog 6 in de handel verkrijgbare sets schroeven (M4, 25 mm of langer) en
tussenringen in aanvulling op de hierboven getoonde accessoires.

D-2



INSTALLATIEPROCEDURE

Zorg voor voldoende ventilatieruimte rond het toestel en volg de onderstaande instructies.

1 Bevestig de grote wandbevestigingsbeugel aan de wand.

Om het toestel aan de wand te bevestigen dient u eerst de beugel aan de wand vast te maken op een deugdelijke en voor
de constructewijze van de wand geschikte manier.

Kies een plek waar de wand sterk genoeg is om het volledige gewicht van de installatie te dragen. Controleer de
afmetingen voor u de beugel gaat installeren (zie “AFMETINGEN” op de eerste bladzijde van deze handleiding).

Installatievoorbeeld 4 mm Zelftappende schroef (in de handel verkrijgbaar)
Om het toestel aan de wand te bevestigen, dient u vier (of meer)
zelftappende schroeven van buiten af door de gaten in de
wandbevestigingsbeugel te draaien.

Tussenring(in de

handel verkrijgbaar) -
@}”__‘_, ====o=====
I W N\ @ -7

Aan een met platen  Direct aan een wand o

beklede wand enz. bevestigen

25 mm of meer 25 mm of meer
Z

I_'_I
Balk enz. Plaatwand

Kies een stevige plek of balk om de schroeven in te draaien. Draai de schroeven niet in op een plek
waar het materiaal te zwak is of gemakkelijk los komt, zoals in de mortel tussen stenen, of in een
wandplaat zonder balk erachter. Door loszittende schroeven kan de projector vallen, hetgeen kan

leiden tot persoonlijk letsel.

2 Maak het metalen onderdeel los van de Geluidsprojector.

Maak de metalen onderdelen los van de linker en rechter achterkant van de Geluidsprojector.
U heeft de schroeven die u bij stap 3 heeft losgedraaid later weer nodig. Wees voorzichtig dat u ze niet kwijt raakt.

' Y

® ' o om0 O e o
Metalen Metalen

onderdeel onderdeel
° o 7] ® o r

D-3

=
[
o
(]
=
D
=}
o
(7]



INSTALLATIEPROCEDURE

3 Bevestig de kleine wandbevestigingsbeugels aan de
Geluidsprojector.

Gebruik de schroeven (M4) van de metalen onderdelen die u bij procedure 2 heeft losgedraaid om de twee kleine

wandbevestigingsbeugels vast te zetten aan de achterkant, links en rechts, van de Geluidsprojector.

Achteraanzicht

o~ Kleine
wandbevestigingsbeugel

Losgedraaide schroef

van metalen onderdeel Bevestig de beugels links

(M4) en rechts aan de
achterkant van de
Geluidsprojector Geluidsprojector.

Als u de schroeven scheef indraait, kan de schroefdraad in de projector kapot gaan. Wees voorzichtig
wanneer u elektrisch gereedschap gebruikt.

4 Bevestig de veiligheidsdraad.
Bevestig de veiligheidsdraad aan de kleine wandbevestigingsbeugel om te voorkomen dat de Geluidsprojector kan vallen.
Haal het ene
/ uiteinde door de lus
m aan het andere eind

]

N s
|]|]|||]|||]|]|] ® © ]\ Leid de

veiligheidsdraad tussen
& de beugel en de

projector door

Herhaal deze
handeling voor de
andere beugel.

Veiligheidsdraad

D-4



INSTALLATIEPROCEDURE

5 Bevestig de Geluidsprojector aan de wand.

Pas de geleidehaakjes van de kleine wandbevestigingsbeugels die vastzitten aan de Geluidsprojector in de gaten aan de
linker- en de rechterkant van de grote wandbevestigingsbeugel en schuif het toestel vervolgens naar rechts.

@ Pas de haak in het gat.

» @ Schuif het toestel naar
rechts.

Houd de Geluidsprojector goed met beide handen vast wanneer u de Geluidsprojector aan de wand
bevestigt of ervan af haalt. Als u de Geluidsprojector niet goed vast houdt, kan deze vallen, hetgeen

kan leiden tot persoonlijk letsel.

=
[
o
(]
=
D
=}
[}
(7]

D-5



INSTALLATIEPROCEDURE

6 Zet het toestel vast.

Breng de gaatjes in de grote wandbevestigingsbeugel in lijn met de gaatjes onderaan de kleine wandbevestigingsbeugels
en gebruik twee van de meegeleverde projector bevestigingsschroeven (M6 x 16) om het toestel vast te zetten.

Onderaanzicht

Projector
bevestigingsschroeven (M6)

\

ooOOoo00o0
[ro=ms I e
o j—§0§ &

Geluidsprojector

7 Bevestig de veiligheidsdraden aan de wand.

Doe schroeven (in de handel verkrijgbaar) door de lussen van de veiligheidsdraden en zet de draden met deze schroeven
goed vast aan de wand.

Zorg ervoor dat de schroeven sterk genoeg zijn en op de juiste manier bevestigd zodat ze in geval van nood het gewicht
van de Geluidsprojector en de beugels kunnen dragen.

Schroef (in de handel
verkrijgbaar) .
Zet de veiligheidsdraad
\ _ov---~77 vast aan de wand. Zet de veiligheidsdraad
o= vast aan de wand.
—
o=
—

Tussenring (in de handel
verkrijgbaar)

Maak de veiligheidsdraad goed vast.

D-6



LIiRAB

SN 3K SPU-KS FEBEFEAN . (E(E AT LANTE S5 PP A 43 . BIEARB 2 5. B2 ERE
UsHEZ% -

LFERARERELZESZMEE (Sound Projector) Bt » FIEREFETL(EVAHT WA RHEZHEERTH . BE
BAEZRERXIMRETE. FEESAIEHLRETRESIERSZMEESE (Sound Projector) Bk MM

SHARGE-

= | =

T4 igm

o YEAARERESMHEE (Sound Projector) BY . IS BFARBBIENER .
b A B 224 T RE 2 VSRR S5 B (Sound Progector) BETE M i SEBUA R {552 -

o ZIENFURIERIKIBEZINEEE (Sound Projector) « HEREMEMABEENERE . FHEBBITIRIE
BUUEBENTHIRS -
ANEBEE AN L fE S L EE E (Sound Progector) Bk MM S A RHE

o ARERZE  FrEMIBST W ARIEHITE.
REFRERE] T RE 2 iE R FIEEE (Sound Prodector) EL¥E M SFEA B -

o EXRHMAER . BEVEEEBRENXEEMIKESMmIEE (Sound Projector) =ERHE -
WMRRBENANLFRBE R PRI ZS[E] . ARES TR FMSEE (Sound Projector) PRI #4, M SEHUK XK .

o FEHEZIHEE (Sound Projector) SiiEEsitze B HM S -
TEENZEE (Sound Projector) BRIEEEFEAEZFEHAMYIM T RES 5 [REFNHEE (Sound Projector) BIEHEFE
ETMSHARAGE -

« —HEMEEE (Sound Projector) #i&% » MAiZEHHITREKVE .
YIREF A EM3EE (Sound Projector) it —BRHT A, HHTHIRIFIHERS . IRZVFFHBIRET T e, 28
A HE AR S AL o




B 1

fREUTATEMAZ AT

ZEREEL (25)

K 300mm

$EE (Projector) ERCARET (& M)
(M4x10) (8 1)

ZEE (Projector) JEfD FHIRET

(M6X16) (24) W

BT LEREIRIMIME . HiETIE 6 ETE M ERET (M4, 25mn HEK ) FiRE .

C-2



LI Fr

R BT AL 25 A SR OB A 2

1 BEXHIEEFRTIE L -

T AN TR b TR S R T LU I 0 7 W LA BB B

WP b — AL REWS A AR E BRI E « 2T ZAT. WA (S AR EI <&t
R HIRAS > #ay) o

L%l dmm H BORET (T )
ATANEEEEMBHETHE L NEEERAIMIIFLEEN 4 1
/ (RES ) BBURET-

===;==

e
(T )
(A w0
e
25mm B 5H K- 25mm B K

e
| mpE ok

EF— A E R RIE RIS - BN ERRANEENMAFIMNE S BERIEE - fIREEE
BRIRIEEE . MAAIBSTARESERRER TMSHARGE -

2 MEMEE (Sound Projector ) L#Hr F£/B# -

MWENHEE  (Sound Projector) HIFHESAEMIAGLYF T B -
TEA PR 3 YT EHF T RUMRE] o 1/ NOAEER

Elmi —— — g
o o ,_}_{_l o o r

C-3



EZ

3 ZE/\FEEEZETFEEE (Sound Projector ) -
RIS B8 2 (e A R 47 FHOIET (i) SEHE A NEREE AR B (Sound Prodector) HIRHE
R -

TR O

T REER LR
TRET (i) RS RREENEE
( Sound Projector ) H/g
e EREFAD .

=] 2]
(Sound Progjector)

INRERTEEST KB (Projector ) ERYIRETIRLGIRTREALIRIA - (ER BRI TREHE D -

4 BELXELEZBE%-

A THiEFSE  (Sound Projector) [iidk. {E/NHIEEEEILA b RHEZ £ RIEEL -

\k it
IRV

webRg — ///////////ﬁﬁﬁmf

o#m \O/

N
o e ) T s smmimits:
REFRARRI S IS
& (Projector) FEA

MR- MEERER B

SRS BRI
R

c-4



L 74

5 HE FZEENEE (Sound Projector ) -

FFLEAEFNSEE  (Sound Projector) _bR/INEEHEFEAL /S 1A 7 B B 1 R WO HEBEFE 2RI 22 A A 3 O FLX
HINIE . RJERATER -

o======= ry

e @ FRE T
S 6
,,,,,,,,,,,,,,,,,,,,

LEHEHZHFWEEE (Sound Projector ) ZitE FEi MK EEU TR . IEWFIEEFWEE ( Sound
Projector ). ZHEIEEZMIEE (Sound Projector ) FTAESI 2 ZMMIEE ( Sound Projector ) ETMEEA
RAE-

C-5



EZ
6 BIEAFLE -

R/ N EEEEFE AR SRR ST 5 RRUEEBEFEZE EROSL. SIS B NI A S B FTURET  (Mexae) #7%. DL
[ EHEE -

NIRERE

SEE RN IRET
(M6)

ELLES
(Sound \

ProJector)

o oOooo0o0
(0])

] BELELZBLEIEL -

W4 S RERHFT A IBET (PRI ) SRR RIRET (20 2 SRk R B L .
TR ET B4R FE LRI B IR (Sound Progector) AERHEZIYE LI A —ENTE F -

WRET (T )

\ ) _’—_‘_7 %ﬁ%ﬁ%g£§” :IEI'IZJ:D %?éé%éﬁ
o= E2lb
-y
ey,
L

P (T )

FEHELREERE-

+#

C-6



A dEA

B vl E HepAl SPM-K8 & T H
FAANL . EAYAE e Fols FF Fas fel Bas] S L.

£ =523 AI25106 Sound Projector &

AHE Aoljof &L|Ct. AH[A= HO2 A
Projector 7} 2O{M AIEX}7} RA4IE =

r rH
18
2

2
i
ot

= AIESI0] AIRE Z2HEHE A28 Of & MAHA S X[AS S EFFMA L.
A %] += Sound Projector 7} ®ol A A}E2F7F HEAESE 4= Qi) .

Projector, ¥ '='E|9“ U CIE 37|71 L™K 92 SlEMAN S RAE
3H31 , XS0 25| HEH £ UEE M| oF §LCt.

Aok dX| = Sound Projector 7} Wol A A} g247} A e 5 gl &L T},
FHESHA 6l2™H 2= LIAFE BHESHA| Z=0{of giLICt.

5t LJAFZ Sound Projector 7} @Ol A AR} B4 dsk 5= Q&)

=
Al Sound ProjectoroflA] st B8 WA £ AR 717| Flof| SE8 S8 2HH 2 /Al =4

L[]
pa (%]
o ©

=
23

o
(=]

Irre

rl)’ 4

o > [
He 10 In

ok
oft
ol

F7ro] 4129 Sound Projector W71 g o] sha7 T 5 st}

» Sound Projector L} & E2}3llof] 28 |2 ZX| OIMAI2.
Sound Projector 1} ¥ B&}#lo] 22 AW Sound Projector W ¥ Be}lAlo] Wojz AL&2}7F HA G
T HFYH.

et

]

O

* Sound Projector & &t MX|51H 7|2 -’-‘-’-SIOE OlM MAE MAlsH{OF L.
Sound Projector & A Al zrolu 2% 0 2 Q& A7 Eox] A X7t E<lAE|

% gt

K-1



(]

Zo] 300 mm

I 2 AE vlE YA} (&)
(M4 x 10) (8 /1)

=AY heE A N4
(M6 x 16) (2 7)

&



27171 Foell FE TF TS vhEstaL o HAE FAsHA A2

1 o] jE & O}2E HEpAS AL,

~
N
il
1%
=2
(0
a0y
ol
o
b
ol
ol
~
Ho
:(u)l:,
)
2
i)
o
o
N
)
:N:
iy
é
we
f
o
o
ol
m_UE
O
HU
i)
é
o
_v;
mlo
4z
b
o)
[}
o
i
)
o

4mm EF YA (AlFol A o))
71718 =of SHEkstA| FAlsla ™ HIZof A B 0l2E Ha2j3ie] 1Yo
/E 474 (1 0|4) o EfE LIALE Hh&L|CEH.

712 o W Fof 2H
A A 2 %]
25mm ©] %+ 5mm ©] %+

v o

I_'_I
H = A W
L= A |

H = WS MEISI0] LIAHE TQILICH. BEELS E HILIOED 22 g WOIE £ 9= ot AR
51 #0] MG DHIAIS . L&8 LIAE Z2HE 7} HOIR AR SANEE  UALICH

2 Sound Projector 8 = A& E2/g/L/C}.

Sound Projector & &9 99 &% ﬂx] = ®wgadyrc,
3 @A A Hals Yy ") elojH el G558 FolF A9

e A

© o i (o0 © o




&A| &Af

3 Sound Projector 0ff 28 % O}2E HEjIS SAIgIL/C.

A

2 AN RS a5 G (M) LALE AHgstel 423 ¥ nheE nel)

1S Sound Projector 2] %
$Zof dhekdtA F2eh,

FHE
2F H v E B
Sound Projector 2] &
o zi20] Hej3lig 52L&t
ol|__||_‘_|.
HIAESH 20| LIAIE =01 F 2, Z2HEQ| LIA} 0|7} 83 4= &L|C}.
A BTRE MEol= A2 FsMAIL.

orX 2fojof & FAfgl/C .

A gfojolE 4d W vl E BEpAle] 23k Sound Projector 7} oA A QP = Tt

T E E
okl sho]o] /—"‘ 2% 2o
S _

F

EpS
O/% o HdEH T

0 o o] TT—— Hal AT} =2 A
E] Apofol] gk o}
olo1Z Yariet,
CHE Hep3tof s
SUS HXE U=

\ ghL|C}.

W =}



&A| FAf

5 Hoff Sound Projector & S&tgHL/C}.

= o]
a2 08 8 nleE #5231
S T8 7ol 35 Oy ¥ v
Sound Projector o 23 2% ¥l npeE vl vled 7}
oun
RE F VIS LEHOR W

0======= [ =======D

XIS ol= 20 i =2
E Hof| 2&51HLE HollA 22l5le A, ¥£&2 2 Sound Project rE
. b= L] I 'I IOI‘ , HAICHSF A O A IEI'
SoEund Prolg%or_ecth(':r EI °—."6c|>;{l "JO ™ Sound Projector 7} WO{ X AIEX|7} 24YE =~ USFL
L|C}. Sound Proj = oS 2

o
=




6 7/7/& ZFAIZ/L/C.

0% W oo s Bee] PR £3 8 vheE Hebl We P 4Ue 5 Sy T2 Ae kg 1
A (M6 x 16) 2 71% AHgste] 71718 g Al Z U Lh,

el
LAY vhed
LA (M6)

Sound

Projector \

o oOooo0o0
00

7 OIE £10/0IF oy B&EH/T .

A sjolol o] Fmof Lk (A3 o) 2 BN F LA S0l o] 4 sholof s T,

Hold 4 9l e Z Sound Projector 2 He}A T7ﬂ v‘f—é] A9 F JEF AA UAME ol A2 .

A} (Aol A o)

\ _ SHA glolof & M ol glolo] = W
Lo s P EARR = oﬂ‘—z%/\];]gljl:;
= 7
L ]

M (Al F oA Bl )

o1 210|0{ & MIA| FAfEtLICt.



SOV NTOYV IO —EBERITEE

SPM-K8
AT S

PRINTOY RTOY T 7Y —EBEHITERE SPM-K8 ZHEWVKOWCIEEXR LT, FI&LITHHHED
CEVET, ELLSBEVVEIELSTESDIC. CEMFIICCOBMMERRAZE ZN TOHH <TEEW). HBFtdHC
Foregld. KEICRELTLIIZE L,

AEREFEALTYY Y ROV 7 5—OWD T EITSEE. EFOIEEEFE
BRFEIEIC CIRFEL IE L\ BERFICKDIEFEIFICUEVWTLEEL,

A RIEMO R ZEToIBES. VOV RTOJVIIF—DERLTIIHDREEEDET,

BOFEVEDTER

ARREFALTY DY RTOY T I 9—ZREITDRE. BFFEICEOVTITOTLEE L,
FOEEVPRTIEWMDHITR. YO RIOVIIF—DETLTIIHORALEDET,

‘BDRIFBIREVOY RTOYII5-BLUEREHIERLEOHECRBETIMA . TMRICH
THAMADEITZITOTLIEE Ve FTBBEDRIETOLES. YU RTOJVII5-HETLT
FHOREEEBDET,

‘RRRDICD. RVBRBBERICHDMAHITLEZV, YUY RITOJ I I5-HETLTITHDOEEE
3k 3

‘BREITDHEFRIAADSTRABHEBZESIITLEZV., +2BERZSIBVWEYYY ROV 95—
ASBICANTEHDORKDEREBDT EHHDET,

BOYRIOVIII—-ICBHSTHESBNTLIEEV, YUY RTOIJ T I5—-DETFLTIIHDERE
EHET,

‘WD TR, EHNICRERRE LTSV, REEERATS EEFEEPRRFICLD. RIUD
WBHAED. BTEENMETIBZTELNBDTT,

-IIER. BT EORMBICEDBETEEDER. FTRLBETNDFICHIZHEREVDIRITOT

CTHEBLKEZL,

J-1




B Y Dl EEmZ CHREER<TES L,

BHIEE (K)
(x1)

© EQQQQQQ

]

(] (==Y
QQEEQ@

]

o
E;’GQGEDG;iggQG;;g;(E;
S = [

EEIE8 (V)

(x2) & FBHLEFD A P —
(X 2)

£ 300mm

M4 X 10BUTRY (FiF)
(X 8)

N &

MB X 16 Bt
(x2)

T
| TEE

LEMABROENICHROYYEYIRY (M4, RE25mmBIL) E9vY+—% 6 Y MULETHERLEZL,

J-2



BN F IR

REHAIC. AEHTEECTOY NTOY T IY—ZWD[MITHDICTDIERAN—X
Nod CEzER L. LIROFIRIC Ufeh o CHHERZIT D T IEE L,

1 BETEE (K) ZECEDIITFS

BEOBSPHEBICEGDE. TH(ICRENMFONDTTECERMIEE (X) ZE(CLO>DDERDA
(FTLES WV OMIFBDHRAICIE. BRDMIFISEUC. BEDDHDEZHREUIEE L,
MIBZRET DERICIF. BRICEHD [FMOWE] ZSEICLTIEE,

<ER{$51> Amm &y VIR (ERR)
///+ﬁﬁmﬁﬁgﬁﬁékw\Tiéﬁﬁﬂmwﬂﬂgwﬁyﬁ*yﬁ47WULEQT<EEMO

I ——r—ar—

o=

Dwv—
(hBR&R) TS e s el s =
=8 ]\ ==
AT DR— ROEEE(C HEEICUNIC
WO 25E WO 25E
25mm Bk 25mm Bk
\ 7
jJ
HigE BIOR—R )

FRIZIEDHDEFRICIE. LohDEULREXBRZBATLEEZV.ELIILPRILRERZZREE. [EHNPTL
HEOEICEMD HFENTLEZVWRIDRIFTYIY RIOJ T I5—HETITDE. FHOFEEEEDET .

2 Yy RIJOVIII—hSHTAEEZEMDANT

PO RTOY 105 -EEDEA 2 ERICHVTVSMERAEEZEDA LTI EE 0,
BOHNUERIIEFIR 3 TERLE T, MRUFNELD TERLEEL,

© o L o © ol
WEAEE — — I — HWEHEE
o o Rl e o
s




3 BENIEER () Z#YOUYRIOVIII—ICRDIGIFS

FIE 2 TMOA UTREAEEDRY (M4 RY) ZERALUT, BERTEE () 2@ZYD K~
JOY IOy —8HOEA 2 BAICEDMIF TS0,

o> RTJOIVIO5—
WaAEED M4 XY \\\\\\\\\\\\
BETEE (V)
X EARICED T
YoV R

JOYV IS —ERE

==
Bo TRAZIEHBIADDE . FHABICRDHIFSNTNSF v FOXIWERLTLESTEDBDET,
BICEBTREERT 3BTRS,

4 BTRBELERD A P—ZBb T2
ETBHLEDTS, BHTSRE ()Y ~NETFBLERDA T—ERDFEITREL,
SRR S —7

EREA—0 DI EY
OAr— = K
Ao/ \
unnon ® 9‘]\
85y RTO
[ED YT HI—DBICTA
BT

2DDEERNFER (V) IC
BDORFFTLREEN



S Yoy RIOVIIHI—%EECWMOFIFS
Y2 RTOY 255 —[CROHIFEIRTSE () DTy IE,

BE[CERD ST

BHIEE (X)) LAOEMNICSIENT. BRICRSA FEETIZEL,

0O

e K X T —wn

0

A

S—

K

\{

@) TRICEHAD

it CHECENN
® oo |

| TiEE
YU KIOY TS EBIBMDHIBEE,
YooY RIOYTII-HBEFTBETHORBLEED T,

FREIWMOATEZICRE. FFZEZMFTLODDIFRIFLTLIEZ L,




6 BEID

BHIEE (X) CEHTEE () OTMIORINNZGDLE., [(HED M6 RIZHHDH I TEE
LTSV, OOy RTOY T 75 —(CER U —TJIVAE. FPEISS o#ITEVL S EE

LTLIEEL,
PR M6 =
7D9{79—EE ((HBR)
\
\ O

|
o QoOOoo0o0o0
[ e
o jf—iﬁiogié b_

7 ETBLERD A P—ZECERD TS

& RBALER D A Y —RimDIRICHERDR V2@ L. BCU DD EEE L CL SV R IIFHD—

YO RTOYVI Y -EBMTEEMNE NUKRICH. BEICTAMASNSBDZFEALTL
ZE0

> BAEE

v v—
(Mhfkaa)

| HEE

BETFBLEAY M P—RBIRHDBBNE S ICADFIFTLEEL,



I\ Ry SA I —ERXRYND =D
YIRS SA VT —EZRYND =T A 7Z R K< DU TCTERWERLIEHDBHD T,
H—EZADTHEE. BRAVED T BBV EIFIE, FeldBir< DY —E A S T3HEEL S0,

YRNAVRROHEEPIRDFEVICHTISHLEDE

WYY /I\F—FT4FEET AT IViR—LR—Y
BEBDSFEONDILHDCEMETEH THDEITDT.TEE
[CLTL RS,
http://www.yamaha.co.jp/audio/

W BEFCHEREYY—
e 24 0570-01-1808

nnnnnnnn
FEFTPI-

EEETHS THMPLEEHIE CTHRVRITED,
R, PHSOSIE FEEESICBDFIEEL,
TEL (053) 460-3409

FAX (053)460-3459
T430-8650 F#AREAATHIREI10-1

% 1 B B~*1REA ®KRBIOEY 5 —DAREFZER)
S8 0 10:00~12:00. 13:00~18:00

PRIAVEEOEE, Y—ER/(—Y[CHT 28MLEDE
B Y/ \ERSENREEZM Y Y —
)/

%4 54 0570-012-808

EEEINS THMAEEERIE CTHRLEEITED,

FAX (053)463-1127

%2 4 B B~tkEH GHBIOEY Y —DRERZER)

S5 - B~®#EH 9:00~19:00 t#H 9:00~17:30

BESIE5AHED
2 i H: B~2REA @ESBIUEHORERZR)
S 0 9:00~17:45

itiEE TO64-8543 #LiRm-PRXRE 1057 1 TE1-60
RN CAZ bt
FAX (011)512-6109

BE#E T143-0006 RRPAHRFMS2TEHI-1
RRENSYO5—=TF )L 1 451RA-5F
FAX (03)5762-2125

R T435-0016 FmAHEE200 P~/ \(#)MATHEA
FAX (053)462-9244

BHE T454-0058 BEEMH/IXRE/NET2TE-2
Y\ REERESF
FAX (052)652-0043

ABrR  T564-0052 MEMLZHE10-28
F—=IREILT AV 2F
FAX (06)6330-5535

AW T812-8508 BEMELXIFLERFI2TH1-4
FAX (092)472-2137

*2F (AP BEEES . URLIFEREE(CEDBEDHDET .

Above information is applicable to customers who live in Japan only.
TRIURY bSAVT—ERXRY hD—=0& HAERNBEEOSEREATT.

/N R=E
TA30-8650 EAATIARAT1O-1



EYAMAHA

© 2005 YAMAHA CORPORATION Al rights reserved.

YAMAHA ELECTRONICS CORPORATION, USA 6660 ORANGETHORPE AVE., BUENA PARK, CALIF. 90620, U.S.A.

YAMAHA CANADA MUSIC LTD. 135 MILNER AVE., SCARBOROUGH, ONTARIO M1S 3R1, CANADA

YAMAHA ELECTRONIK EUROPA G.m.b.H. SIEMENSSTR. 22-34, 25462 RELLINGEN BEI HAMBURG, GERMANY

YAMAHA ELECTRONIQUE FRANCE S.A. RUE AMBROISE CROIZAT BP70 CROISSY-BEAUBOURG 77312 MARNE-LA-VALLEE CEDEX02, FRANCE
YAMAHA ELECTRONICS (UK) LTD. YAMAHA HOUSE, 200 RICKMANSWORTH ROAD WATFORD, HERTS WD18 7GQ, ENGLAND

YAMAHA SCANDINAVIA A.B. J A WETTERGRENS GATA 1, BOX 30053, 400 43 VASTRA FROLUNDA, SWEDEN

YAMAHA MUSIC AUSTRALIA PTY, LTD. 17-33 MARKET ST., SOUTH MELBOURNE, 3205 VIC., AUSTRALIA

YN =HE

YAMAHA CORPORATION
Printed in Malaysia € WG21260



	DIMENSIONS
	Large wall mount bracket
	Small wall mount bracket
	Unit with bracket

	English
	SAFETY INSTRUCTIONS
	ACCESSORIES
	INSTALLATION PROCEDURE
	1 Attach the large wall mount bracket to the wall.
	2 Detach the metal apparatuses from the Sound Projector.
	3 Attach the small wall mount brackets to the Sound Projector.
	4 Attach the safety wire.
	5 Mount the Sound Projector on the wall.
	6 Secure the unit.
	7 Attach the safety wires to the wall.


	Français
	INSTRUCTIONS DE SÉCURITÉ
	ACCESSOIRES
	MÉTHODE D’INSTALLATION
	1 Fixez le grand support au mur.
	2 Détachez les plaquettes métalliques du projecteur de son.
	3 Fixez les petits supports muraux au projecteur de son.
	4 Fixez le câble de sécurité.
	5 Fixez le projecteur de son au mur.
	6 Assurez le maintien du système.
	7 Fixez les câbles de sécurité au mur.


	Deutsch
	SICHERHEITSANWEISUNGEN
	ZUBEHÖR
	INSTALLATIONSVORGANG
	1 Befestigen Sie die große Wandhalterung an der Wand.
	2 Nehmen Sie den Metallbeschlag vom Soundprojektor ab.
	3 Befestigen Sie die kleinen Wandhalterungen an dem Soundprojektor.
	4 Bringen Sie den Sicherheitsdraht an.
	5 Montieren Sie den Soundprojektor an der Wand.
	6 Sichern Sie das Gerät.
	7 Befestigen Sie die Sicherungsdrähte an der Wand.


	Svenska
	SÄKERHETSFÖRESKRIFTER
	TILLBEHÖR
	MONTERINGSÅTGÄRDER
	1 Montera fast det stora väggmonteringsfästet i väggen.
	2 Ta loss metalldonen från Ljudprojektorn.
	3 Montera fast de små väggmonteringsfästena i Ljudprojektorn.
	4 Sätt fast säkerhetsvajern.
	5 Montera Ljudprojektorn på väggen.
	6 Skruva fast ljudprojektorn.
	7 Fäst säkerhetsvajrarna i väggen.


	Italiano
	NORME DI SICUREZZA
	ACCESSORI
	PROCEDURA DI INSTALLAZIONE
	1 Applicare la grande staffa di installazione a muro su di un muro.
	2 Rimuovere le parti metalliche dal proiettore audio.
	3 Applicare le staffe di installazione a muro piccole al proiettore audio.
	4 Applicare saldamente i fili di sicurezza.
	5 Installare il proiettore audio sul muro.
	6 Fermare quest'unità.
	7 Fermare i fili di sicurezza al muro.


	Español
	INSTRUCCIONES DE SEGURIDAD
	ACCESORIOS
	PROCEDIMIENTO DE INSTALACIÓN
	1 Coloque el soporte de montaje en pared grande en la pared.
	2 Separe los aparatos de metal del proyector de sonido.
	3 Coloque los soportes de montaje en pared pequeños en el proyector de sonido.
	4 Coloque el cable de seguridad.
	5 Monte el proyector de sonido en la pared.
	6 Asegure la unidad.
	7 Coloque los cables de seguridad en la pared.


	Nederlands
	VEILIGHEIDSINSTRUCTIES
	TOEBEHOREN
	INSTALLATIEPROCEDURE
	1 Bevestig de grote wandbevestigingsbeugel aan de wand.
	2 Maak het metalen onderdeel los van de Geluidsprojector.
	3 Bevestig de kleine wandbevestigingsbeugels aan de Geluidsprojector.
	4 Bevestig de veiligheidsdraad.
	5 Bevestig de Geluidsprojector aan de wand.
	6 Zet het toestel vast.
	7 Bevestig de veiligheidsdraden aan de wand.


	Chinese
	Korean
	日本語
	取り扱い上のご注意
	同梱品一覧
	取付手順
	1 壁掛け金具（大）を壁に取り付ける
	2 サウンドプロジェクターから梱包用金具を取り外す
	3 壁掛け金具（小）をサウンドプロジェクターに取り付ける
	4 落下防止用ワイヤーを取り付ける
	5 サウンドプロジェクターを壁に取り付ける
	6 固定する
	7 落下防止用ワイヤーを壁に取り付ける





